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H sk 10 - - - 1 1 - 1 - 3 2 1 1

A | 11 - - 1 1 2 1 - - 3 1 2

E] x| 28 2 2 2 3 4 3 2 2 1 1 4 2
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% £ x| 16 4 2 3 1 - - 1 2 - - 1 2

H S 7 1 - 3 - - - - 1 - - 1 1
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60 28.0 25.3 28.0 2b.2 28.2 25.5

Vo 8 4R 28.1 26. 2 27.9 26.0 28.5 26.4
9 28.1 26. 4 28.0 26.1 28.5 26.6
10 28.2 26. 6 28.1 26. 3 28.6 26.7
11 28.4 26. 8 28. 2 26.5 28.7 26. 8
12 28.6 27.0 28.3 26.7 28.8 27.0
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2 fe m x| 423 36| 35| 55| 30| 41| 34 27| 35 31| 35 25| 39
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3~ AR 137 118 15 — 3 1 —
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BEE ~ 104 A 379 333 42 — 1 3 —
104E~ 154E KT 288 247 27 1 2 11 —
154E~ 204E AT 248 198 36 2 3 9 —

20 4 Lk 335 294 26 2 4 9 —

N 3 109 91 10 1 5 2 —
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